
lj<f^gu< pk-dxfgu<kflnsf,lj<f^gu<, df]<Ë 

cfly{s jif{ 2072/2073 

>fj)f dlxgf 

2072/2073 sf] dfl;s cfdbfgLsf] kmfF^jf<L

cfo zLì{s cg'dflgt cfo of] dlxgfsf] cfo
of] dlxgf;Ddsf] 

cfo

1.1.1 - dfnkf]t tyf e"ld s< 13860000.00

1.1.2 - #< hUuf s< 78100000.00

1.1.3 - axfn s< 7350000.00

1.1.4 - la^f}<L s< xf^ahf< 1331000.00

1.1.5 - Joj;fo s< 25000000.00

1.1.6 - ;jf<L s< 9680000.00

1.1.8 - dgf]<~hg s< 726000.00

1.1.9 - lj!fkg s< 5082000.00

1.11 - df}Hbft 20800000.00

1.2.1 - :fjf<L kfls{Ë z'Ns 1452000.00

1.2.10 - ;]jf z'Ns 1815000.00

1.2.11 - g=kf=&]Ssf ;]jf z'Ns 1000000.00

1.2.15 - lj<]Gb ;efu[x ;]jf z'Ns 302500.00

1.2.6 - crn ;DklQ d"Nof°g ;]jf z'Ns 247500.00

1.2.7 - :yfgLo ljsf; z'Ns 90700000.00

1.2.9 - dxz'n 2420000.00

1.3.1 - btf{ tyf gjLs<)f b:t'< 1089000.00

1.3.2 - gS;f kf; b:t'< 31762500.00

1.3.3 - l;kmfl<z tyf aS;f}gL b:t'< 10890000.00

1.3.4 - gftf k|dfl)ft b:t'< 343750.00

1.4.3 - lnnfd ljqmL 220000.00

1.7.1 - b)* hl<jfgf 11550000.00

1.7.2 - ef*f tyf axfnaf^ cfo 6500000.00

1.7.3 - w<f}^L hkmt 363000.00

1.7.5 - k]ZsL lkmtf{ 660000.00

1.7.6 - cGo ljljw cfo 2500000.00 2636712.79 2636712.79

2.1.1.10 - g]kfn ;<sf<jf^ Pn=lh=l;=l*=lk= cg'bfg rfn' _ 4882600.00

2.1.1.11 - dfnkf]t af^ <lh:^«];g b:t'< 25000000.00

2.1.1.2 - g]kfn ;<sf<af^ hu]*f sf]if jfkt cg'bfg 22000000.00

2.1.1.3 - g]kfn ;<sf<af^ ;fdflhs ;'<Iff cg'bfg 45000000.00

2.1.1.4 - g]kfn ;<sf<af^ ;*s jf]*{ dd{t ;'wf< cg'bfg 10000000.00

2.1.1.5 - g]kfn ;<sf<jf^ ljz]if yk cg'bfg lk 1 13818400.00

2.1.1.8 - g]kfn ;<sf< k|zf;gLs cg'bfg 38359000.00

2.1.1.9 - g]kfn ;<sf< :jf:Yo tyf hg;_Vof dGqfno 4923000.00

4.1.5 - o'gL;]km 8960000.00

4.1.7 - cGo ;_# ;_:yf cg'bfg 1630000.00

8.1.1 - hg;xeflutf 12863750.00

8.2 - Knfg g]kfnjf^ 1427000.00

514608000.00 2636712.79 2636712.79


